B
EAR—LAFEY (B - 55) TRAE5A1E (No. 1)
alZ A m_E # . Vi tATAHARE WAH
w|E BEE lea | B A |*“ﬁ$ 2| 5 | e | e B wanns| Hma | XAR [E<ER = : *
1 90% 0 2 2 0 0 0 0| ZpRE
2 0 3 0 0 1 o o| mEm
3 1 3 1 0 0 0 o o
%[ 4 0 0 1 0 o o o| mEm
&[5 0 0 0 0 0 o o| mEm
%[ 0 3 0 0 2 0 o o
AT 0 1 1 1 1 1 14 2]
+[8 0 0 0 0 0 0 o 2
1|9 8 1 2 0 1 0 0| ZpRE
4| 10 0 0 3 1 0 1 7 2]
i 8 0 0 0 1 o o 5
12 14 4 0 0 0 1 17| zim
al 1l 20| 2 6 B T T
” FRATE
: Bl maa |walma|ues| 3 | x| g8 | S5 e BAR
H A E | % A EFE
# E-d
N o4 a2
AR= 106 P R IR
¥ |3 =zt ﬁ
4| ®m 88|
#(5] @ 67 BRI
6| u Rt IR
%71 # 67
8| & 19 R IR
(o[ R IR
0| =
z(n| =
AEETE
NI R BRI
NEEYEE
NI ER BRI
6| ®m % &
17 & % =
8| & A EE
NI T
0| XABERHE
0] A w &
2| B & &
3] & oW
I
AREEE:
%] % =®
a7 ® & BRI
8] »< R IR
¥ B = 54 s3] osy 0] 4l =R FR
W[ £os
3| & ®
Y
8| Le~E
| mEmTLE
B & w &
% ® @&
i aosE

39 a R E
40| oqvLHhL

ZERLFA

4 [RIN2EN ERLFA
42 m % #
43 R

44 =)
45 BfERPx
46 B W
41 B M
87z —Fz LHEF
49 ® A 3
50 b AA

51 YAESDE ERLFA
52 BHHEY
53 LY OB
54 NIk

55 |#754 bR MEE
56 | BEHELED

XA R

57 B i & XA B
58 ELXBHE
59 L FHE

60 | B zARER
61 | EHOM - HH
62 HhEn

63 hhenE

64 LCREDR
65 wER

66 HEEBAEA
67| aIRE-T27
68| T—L—ZE
69 e R

70 | EREYTIA
| &/R LWB0HP
2 UMYER

73 0B

74| HTI4rEST

>
L

o Zlmlolololols|=|=lolol=lolo oo oo v o v = fw = o v o = o v o | o = o = = fes feo feo o fa forn = o = o = fes = o o = o = = o o o o = = o = o fw = |o o |o | | | fon = = o |a = |o

75 | IAU—ILihaE &|

76 HTLD 22

7 BIVH &|

78| NEAEBH 24

79| AT7IsRES 2|

80| vFEbYOR 16 1

81| #/REb 16,

82| ¥ra—rkA 18 21

83 | EHWESBEE 17, 1

8 Loo® 5| 0 0 0

HEH B 56 80 138 14, 87| 1.811] 22,150 863

EH+BE=A+B 5.002| 4,776 95% 81 97 140 14 93| 1.814] 22,188 874




(NO. 2)

EANR—LAFERRAR (BRH) FRL265E58 18
A
a ;% % & 5% 5% 35 | aias | @A
w|E EA|RAWRE B | X | x| w55 AL ey
T ~vvaE 4 0 0 1 1
2| mA- 4 17 1 0 0 2
3| senoR 6 0 0 0 o
E BRALIA 21 1 0 1 3
&[4 po-mw 13 0 0 1 1
2[5 | ~erEma 5 2 0 0 o
NDEPE 8 3 0 3 1
w1 rvom 4 0 0 1 0
| [ 8 [#vFLnbaat 4 2 0 1 1
N 13 3 0 0 0
10 L VHR 15, 1 0] 2 3
11 FINR HD S 24 1 0 1 0
2] ey 16 2 0 1 0
13 [ oy it 7 4 0 0 o
14| & omast 1 2 0 1 1
15 [BHEDT 7 1SR 3 1 0 0 1
7D REB 123 21 0 1 8
BR=AB 150 22 0 12 1
[EAR-LEt A+ BB [ s7so] saeal  osu| 1205] a2l  om] 119 2o 1so[ 104
EARRIERATERE FRI6E5AIE
a|E A FOE B Bli war [Ton wE
2 ommoe ) 5% AXM | BAR MOA |7
q | = EA | BA | MAE E:] ES rren [SART | E# |FrER AR
i AL
i Tk F1 T T
2| o B 2 ss| 110|110
3 | gedkn —r7 -4k 1034,
[ 4| wEsomaL
E|5 HEVHR—L
z[6] » C
AT =n
® | 8 | EFEEARRREYS-
w0 | mmErbtaR
(10| vy
®(11]| /1xx
AR
13 Jgmm b E A
14| LanbrEDE
15| BiEy 75—
16 B8 #
17 | FEE -
18| mes-ubhb
9] NACH M
0 %<5
21 | mArm)ITes-
2 wes
3| rrh—LiE
24 |WEr—s oy —
B| BEHT
26 | JLY—LE D
R e 3
%8 [#0Y0E mrE 6
29 | WhHBHATOF 1
0 [ xirT7ESE— 7
3| vmryoR 21 4 0 2 21 o3y
EARBEE Lowo| o5 a1 261 2.02] 1om




